Times Table Test - Year 2

Check

—

5x2=

12 x5 =

1x10 =

2x7/ =

6bx5-=

10x 11 =

2x2=

5x7 =

LN W N

4 x 10 =

O

11x2=

—
—

5x 3=

12.

10x9 =

Check
13. 8+2=
14.] 20+5 =
15.] 100 + 10 =
16. 6+2=
17.] 10+5-=
18.] 10+ 10=
19. 4 + 2 =
20., 30+5=
21.) 90+10=
22.| 24+2=
23.| 35+5=
24,1 120 + 10 =

My score:

How I can improve:

Mg score last time:

g
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Times Table Test - Year 2

Check

—

10x 7 =

5x 7=

2x 7] =

11x 10=

5x 12=

11x 2=

10x 4 =

5x 10=

LN W N

5x2-=

O

3x 10=

—
—

5x 6=

12.

2x 8=

Check
13.] 10+ 2=
14| 15+5-=
15| 12+2=
16.] 20+ 10=
17.] 20+5 =
18.| 16+2=
19.] 10+ 10=
20.| 60=+5-=
21| 4+2=
22.) 50+ 10=
23.| 50+5 =
24, 18+ 2=

My score:

How I can improve:

Mg score last time:

g
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Times Table Test - Year 2

Check

—

10x 12=

bx 5=

5x 2=

10x 3 =

5x 2=

2x 12=

10x 10 =

1x 5=

LN W N

4 x 2 =

O

6x 10=

—
—

Qx 5=

12.

2x 10=

Check
13.] 40+ 10=
14, 10+ 5=
15 2+2-=
16.| 60+ 10=
17.] 55+ 5 =
18.] 10+ 2=
19. 10+ 10=
20., 60+5 =
21, 8+2=
22.| 90+ 10=
23.| 35+5=
24| 24+ 2 =

My score:

How I can improve:

Mg score last time:

g

twinkl.co.uk



